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LINES AND ANGLES

Lines And Angles

1.In figure, if AB || CD || EF, PQ || RS, Z RQD =25° and £

CQP =60°,then ZQRS is equal to
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A.85°

B.135°

C. 145°

D.110°

Answer: C



https://dl.doubtnut.com/l/_YjMPAtbNNeea

l o \VWatch Video Solution ]

2. If one angle of a triangle is equal to the sum of the

other two angles, then the triangle is

A. an isosceles triangle

B. an obtuse triangle

C. an equilateral triangle

D. a right triangle

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YjMPAtbNNeea
https://dl.doubtnut.com/l/_KVH55Z6jsuLl

3. An exterior angle of a triangle is 105° and its two
interior opposite angles are equal. Each of these equal

angles is

A371
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D. 75°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ekTgrkY2DlAY

4.1f the angles are in the ratio 5:3: 7, then the triangle

is

A. an acute angled triangle

B. an obtuse angled triangle

C.aright angled triangle

D. an isosceles triangle

Answer: B

° Watch Video Solution

5. If one of the angles of a triangle is 130° , then the

angle between the bisectors of the other two angles can


https://dl.doubtnut.com/l/_56Gy7AloWNLY
https://dl.doubtnut.com/l/_cT6JwLsU3aMc

be

A.50°

B.65°

C.145°

D.155°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cT6JwLsU3aMc

6. In the figure, POQ is a line. The value of z is

4x
( 40° 3x )
* -
P (@) Q
A.20°
B.25°
C.30°
D.35°
Answer: A

o Watch Video Solution
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7. In the given figure, if
OP||Rs, ZOPQ = 110° and ZQRS = 130°, then/PQR

is equal to

A.40°

B.50°

C.60°

D.70°

Answer: C

[ - 1


https://dl.doubtnut.com/l/_wRpj5AcKWnhx

l o Watch Video Solution

8. Angles of a triangle are in the ratio 2:4:3. The

smallest angle of the triangle is

A.60°

B. 40°

C.80°

D. 20°

Answer: B'

° Watch Video Solution
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9. For what value of x + y in figure will ABC be a line?

Justify your answer.

&2

o Watch Video Solution

10. Can a triangle have all angles less than 60°? Given

reason for your answer.

° Watch Video Solution

11. Can a triangle have two obtuse angles ? Give reason

for your answer.

.
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12. How many triangles can be drawn having its angles

as 45°,64° and 72°? Give reason for your answer.

o Watch Video Solution

13. How many triangles can be drawn having its angles

as 53°,64° and 63°? Give reason for your answer.

o Watch Video Solution

14. In the figure, find the value of x for which the lines |

and m are parallel.
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A.120°

B.126°

C.136°

D. 140°

Answer: C

° Watch Video Solution
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15. Two adjacent angles are equal. Is it necessary that
each of these angles will be a right angles ? Justify your

answer.

o Watch Video Solution

16. If one of the angles by two intersecting lines is a
right angles, what can you say about the other three

angles ? Give reason for your answer.

o Watch Video Solution

17. In the figure, which of the two lines are parallel and

why ?
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° Watch Video Solution

18. Two lines | and m, are perpendicular to the same line
n. Are | and m perpendicular to each other? Give reason

for your answer.

o Watch Video Solution

19. In the figure, OD is the bisector of ZAOC, OE is the

bisector of /BOC and OD 1 OE. Show that the points


https://dl.doubtnut.com/l/_9mturEuaR9XR
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A, @) and B are collinear.

o Watch Video Solution

20. In the figure, /1 = 60° and Z6 = 120° Show that

the lines m and n are parallel.


https://dl.doubtnut.com/l/_XZEZLg2jzQ44
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o Watch Video Solution

21. AP and BQ are the bisectors of the two alternate
interior angles formed by the intersection of a

transversal t with parallel lines | and m (in the given


https://dl.doubtnut.com/l/_KaHXt7G3oU2p
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figure). Show that AP||BQ.

o Watch Video Solution

22. In the given figure, bisectors AP and BQ of the

alternate interior angles are parallel, then show that | ||


https://dl.doubtnut.com/l/_tMtJ5lGMdZUr
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> |

o Watch Video Solution

23. In the figure, BA|| ED and BC|| EF. Show that ZABC =

/DEF.


https://dl.doubtnut.com/l/_fQe8pM5RdRbr
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o Watch Video Solution

24. In the figure, BA || ED and BC || EF. Show

/ABC + /DEF = 180°.


https://dl.doubtnut.com/l/_rcCCoy8vY5NX
https://dl.doubtnut.com/l/_QMnlxrBrJUyr

o Watch Video Solution

25. In the figure, DE|| QR and BP are bisectors of Z/EAB

and ZRBA, respectively. Find ZAPB.
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o Watch Video Solution

26.A A ABC is right angled at A. L is a point on BC such

that AL 1. BC.Provethat /BAL = ZACB.

° Watch Video Solution
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27. Two lines are respectively perpendicular to two

parallel lines. Show that they are parallel to each other.

o Watch Video Solution

28. If two lines intersect prove that the vertically

opposite angles are equal

o Watch Video Solution

29. Bisectors of interior /B and exterior Z/ACD of a A

1
ABC intersect at the point T. prove that /BT C = 54
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o Watch Video Solution

30. A transversal intersects two parallel lines. Prove that
the bisectors of any pair of corresponding angles so

formed are parallel.

o Watch Video Solution
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31. Prove that through a given point, we can draw only

one perpendicular to a given line.

o Watch Video Solution

32. Prove that two lines that are respectively
perpendicular to two intersecting lines intersect each

other.

o Watch Video Solution

33. prove that triangle must have atleast two acute

angle

.
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34. In Figure P§ s
QPR and PT 1 QR

1
LTPS = - (£Q ~ ZR)

the

bisector

Show

of

that

° Watch Video Solution
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